P ——

Hg JR Replaces Brouwer Sod Harvester Parts

Sod Harvester

~g®™ 3 piece Blades

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




P ——

Rﬁ JR Replaces Brouwer Sod Harvester Parts

Sod Harvester

~g®™ 3 piece Blades

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
1 R250405 Bolt Kit - 5/16 x 1 w/Nut Set/25 0

Detail Description: 5/16" X 1" Grade 8 Hardened Bolt with Lock Washer & Lock Nut - Pkg of 25:

1 R250406 Bolt Kit - 5/16 x 1 w/Whiz Nut Set/25 0

Detail Description: 5/16" X 1" Grade 8 Hardened Bolt with Whiz Nut - Pkg of 25:

2 R260050 Bottom Blade - 15x 3/16 x 3 0
2 R260100 001547 Bottom Blade - 16 x 3/16 x 3 0
2 R260105 002268 Bottom Blade - 16 x 1/4 x 3 Heavy Duty 0
2 R260125 001548 Bottom Blade - 18 x 3/16 x 3 0
2 R260130 002269 Bottom Blade - 18 x 1/4 x 3 Heavy Duty 0
2 R260151 Bottom Blade - 24 x 3/16 x 3 0
2 R260155 002270 Bottom Blade - 24 x 1/4 x 3 Heavy Duty 0
3 R260310 Bolt - Plow 3/8-16 x 1 w/Lw and Nut 0
4 R260301 001550 Side Plate - .089 x 3-1/4 0
4 R260300 002267 Side Plate - .089 x 4 0
4 R260306 Side Plate - 3/16 x 3-1/4 Heavy Duty 0
4 R260305 002438 Side Plate - 3/16 x 4 Heavy Duty 0

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




